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419 FLil FnA 49 59| 108/22.8 |85.2 469 | R O & A 58 58] 116/24.0 92.0
420 [frfe. BN 53 54 107]21.6 | 85.4 RE 4703 fi 72 56/ 128]/36.0 |92.0 THEE
421\ Hik BiE 62 51| 113/27.6 |85.4 471 B5 ik 68 59 127]34.8 | 92.2
422|355 2B 48 52 100] 14.4 |85.6 472 |k H %DEE 65 60| 125/32.4 [92.6
423 |1LI] PRAE 61 51| 112/26.4 [85.6 473 |HF) BEAS 62 67| 129]36.0 |93.0
424 | F 2 1 BT 54 58 112]26.4 |85.6 474 \FE O AT 69 55| 124/30.0 | 94.0
425 5?9; izt 58 54| 112/26.4 | 85.6 TRE 475 7@#@%@ 59 71 130/ 36.0 94.0 RE
426 | AR Bk 61 57 118]32.4 |85.6 4765 H— 60 71 131]36.0 95.0
427 /vt FEHA 55 63| 118/32.4 |85.6 47716 FEX 68 63| 131/36.0 |95.0
428 |BEH Bk 53 64 117/ 31.2 |85.8 478|m A, 66 65 131]36.0 |95.0
429 KR PRk 59 58/ 117/31.2 |85.8 479K 5 BEN 62 61 123]27.6 | 95.4
430|850 B — 48 56 104] 18.0 |86.0 Y 480 (/NI A 67 62| 129/31.2 [97.8 RE
431 KL #h =71 52 58/ 110]/24.0 |86.0 481 KT H 7% 68 66/ 134]/36.0 |98.0
432| K& IEfE 54 62 116/ 30.0 [86.0 A82 | ] ENFE B 64 67| 131/31.2 [99.8
433 |1 K 66 56| 122]/36.0 |86.0 483 | Jip - F 63 73] 136/ 36.0 [100.0
434 #3 Th= 62 60| 122]/36.0 |86.0 4847 BE 73 63 136/ 34.8 |101.2 BB
435 ﬁii ié 55 54| 109]22.8 |86.2 RE 485 [ H: 15K 72 71]  143]36.0 [107.0
436 |Gtk 60 55 115|28.8 |86.2
437/ 59 62 121]34.8 |86.2
438 | KA H TR 57 63] 120/33.6 |86.4
439|852 1514 49 58 107/ 20.4 |86.6
4408 H 5L 53 59 112]25.2 |86.8 FRE
441 VB B 58 65 123]36.0 |87.0
442 | db3EF 5L 54 56 110]22.8 [87.2
443 |5 H E 55 61| 116/28.8 [87.2
444 |TRE B2 60 61 121]33.6 |87.4
445 /N K 22 59 62| 121]33.6 [87.4 FRE
446 | HFT B 54 66 120]32.4 [87.6
447|—f4 ¥ 59 54| 113]25.2 |87.8
448| & H 5T 63 55/ 118/30.0 |88.0
449 | EK HFE 57 59 116/ 27.6 |88.4
450| 2 RiH 57 58/ 115/26.4 |88.6 =
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